
ŝ

$%675$.

7LZL ,UGD�0XVOLPDK� � $QDOLVLV�.RQWULEXVL��3DMDN�3DUNLU�7HUKDGDS
3HQGDSDWDQ�$VOL�'DHUDK��3$'��.RWD�3DGDQJ
7DKXQ����������

3HPELPELQJ �� 0HJDZDWL��6�(�0�0

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�PHQJHWDKXL� VHEHUDSD� EHVDU� NRQWULEXVL� 3DMDN�
3DUNLU�WHUKDGDS 3HQGDSDWDQ�$VOL�'DHUDK�.RWD�3DGDQJ��3HQHOLWLDQ�LQL�GLODNXNDQ�GL�
%DGDQ� 3HQGDSDWDQ� 'DHUDK� .RWD� 3DGDQJ�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH
GHVNULSWLI�� \DLWX� �PHQJJDPEDUNDQ� GDQ�PHQJDQDOLVD� GDWD� EHUGDVDUNDQ� IDNWD�IDNWD�
GDQ� LQIRUPDVL� \DQJ� DGD�� 'DWD� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� GDWD�
VHNXQGHU�EHUXSD�GDWD�3HQGDSDWDQ�$VOL�'DHUDK�GL�.RWD�3DGDQJ�\DQJ�GLSHUROHK�GDUL�
%DGDQ 3HQGDSDWDQ�'DHUDK�.RWD�3DGDQJ�GDQ�GDWD�GLDQDOLVLV�GHQJDQ�PHQJJXQDNDQ�
WHNQLN DQDOLVLV�GHVNULSWLI�NXDQWLWDWLI��

%HUGDVDUNDQ� KDVLO� SHQJRODKDQ� GDWD� \DQJ� SHQXOLV� ODNXNDQ� GLSHUROHK� KDVLO�
EDKZD NODVLILNDVL� NRQWULEXVL 3DMDN� 3DUNLU� WHUKDGDS� 3$'� GL� .RWD� 3DGDQJ� WDKXQ�
��������� VDQJDW�NXUDQJ GLVHEDENDQ�PDVLK�GLEDZDK����� 0HVNLSXQ�NRQWULEXVL�
3DMDN� 3DUNLU� VDQJDW� NXUDQJ� WHWDSL� 3DMDN� 3DUNLU� MXJD� EHUSHUDQ� GDODP�PHQDPEDK�
SHQHULPDDQ�3HQGDSDWDQ�$VOL�'DHUDK�

'HQJDQ�GLODNXNDQQ\D�SHQHOLWLDQ�LQL�GLKDUDSNDQ�6HEDLNQ\D�SHQHWDSDQ�WDUJHW�
NHGHSDQ� GLODNXNDQ� EHUGDVDUNDQ� SRWHQVL� SDMDN� GDHUDK� \DQJ� ULOO�� VHKLQJJD� GDSDW�
PHPEHULNDQ�NRQWULEXVL�\DQJ�EHVDU�EDJL�SHQHULPDDQ�3HQGDSDWDQ�$VOL�'DHUDK�\DQJ�
GLNHOROD� ROHK� %DGDQ� 3HQGDSDWDQ� 'DHUDK� �%$3(1'$�� .RWD� 3DGDQJ�� NKXVXQ\D�
3DMDN�3DUNLU��
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